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General Instructions:

1. - All questions are compulsory.

2 The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and

Section-D comprises of 11 questions of 4 marks each.
3. There is no overall choice in this question paper.
4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each
AABC Ht Ywsif ABD W AC W ¥um: D wm E faw @ wewm fom ¥ f5
DE||BC ¥ 1972 AE=2 cm, AD =3 cm 7% BD =4.5 cm #, Ml CE 9/ =ifaw

In AABC, D and E are peints on the sides AB and AC respectively such that DE || BC.If AE=2
cm, AD=3 ¢m and BD=4.5 cm, then find CE.

(=]

g e - sin? 31° - cos?59° 1
Evaluate ; sin? 31" — cos? 597
(cosecn — 1).tand =1 =7 78 Hifmg) 1

Find the value of (cosec?8 — 1).tan’d

UF WAEMEE WEM w1 WWW W W, SieE W WMAE §W O wifan, WEE 1
AL = 12.4 31 WmE =105 fem &

Find median of the data , using an empirical relation when it is given that

mode=12.4 and mean =10.5.
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Question numbers 5 to 10 carry two marks each.

HE n F wEE w5y § fafam, FEfE wE s eEeE T v
n= x5 x13

70 He 4 e g ¥ 7

Write the number n in usual form, whaose prime factorisation is given as :
n=2"x56x 13
Also find the number of zeros it contains ?

54 wmﬁﬂﬂmwmmﬁmﬁmﬁ%aﬁwmﬁmmmm%ﬂ
Hebl & =g Hig & T |

Find the smallest positive rational number by which ;. should be multiplied so that its
decimal expansion terminates after 2 places of decimal.
mmﬁhmmPWMWhﬂﬁﬁamﬂﬁﬂEmﬁf o #
-~ e Hwt # -

Ix+y=7

6x+2y=8

Find whether the lines representing the following pair of linear equations intersect at a point,
are parallel or coincident

't\l.n

e |

r+y=T7

6r+2y=8
8 i g, T CD =17 m, BD =8 m AWM AD =4 m &, 91 AC =1 7 7@ wifag)
4 C

A D B

In the fgure, ifl'_‘[l=1'?£:m, BD=8m and AD =4 m, then find the value of AC,

A ] B

-3, Firg =1fam -
seci ) — secll) = tand B + tantd
Prowve that ;

sect® — sect@ = tand® + tan?l
10 farsit = 2w W, 50 fearnfeii gm wra ey me afe e Reoae § .
Flisiea 0-20 20 - 40 40 - A Bl - B0 B0 - 100
T+ | 4 6 25 10 5
e
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In a class test, 50 students obtained marks as follows :

Marks - 20 20-40 40 - B0 60-80 | B0-100
obtained

Mumber of | 4 & 25 10 3
students

Find the modal class and the median class.
EHTE-H [ SECTION-C
o w11 3 20 F Wl w3 8% B
Cuestion nurmbers 11 to 20 carry three marks each
u fers faare e g 00 @ 126 % HCF 9@ Hife . LOM ot s fam afr =ita Fitfm,
6 LOM x HCE = S samsil 1 T0F5 &
Find HCF of 90 and 126 by Euclid’s division algorithm. Also find their LCM and verify that
LCM x HCF = Product of two numbers.
12 A_Apdy 45 B Pex+l A M HfEm  werem mam YMGE FW WY Divide

=352 4 4x + 5 by x2—x + 1 and then find quotient and remainder.

13 ofr agTE ax4 150+ 6 1 UF YOH 36 F W g 9, @ a W UE 90 wiAg) 95w
T ot I il
If one zero of the polynomial ax®+ 15x + 6 is reciprocal of the other, then find the value of a.
also find the zeros of the polynomial,

14 fisirgm fafu & 7o Sifan
Sy —2y=11
A+ dy=4
Solve by elimination :
Sr—2y=11
Ja+4y=1

15w A 4, fag St Tl & =i W dmees g S 9 & 9P F ave g §
In a rhombus, prove that four times the square of any side is equal to sum of the squares of its
diagonals.

A6 T ABC # X wary g o AB A1 BC W A% XY | AC 59 W & fiR e & w1 51 e wwi A
wizd &) :—: &1 | Tw wifE)
If X and ¥ are the points on the sides AB and BC, XY || AC, in a triangle ABC, such that it
divides the region into two equal parts. Find f‘:—ﬁ:

5 WA i FA
sin35" cos55" + cos35® sin55"
Evaluate :

£inA5% coshst + cos35° sins5®
18 e wanitEn =1 fag wifag .

sin A1+ tan A) 4 cos A. (1+ cot A) =sec A+ cosec A
Prove the identity :
sin A[1+tan A) +cos A, [1+cot Al =sec A+ cosec A

19 foey iz Hiera fafly @ e s wif
1 A | 10-15 | 15-20 | 20-25 [ 25-30 |30-35 |35- 40

HRETT rd 3 B 1 4 13
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21

22

24
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AT HRWE | 40-45 | 45-50 | 50-55 | 55-60 | 6D-65 | 65-70

Ay=EEE | 8 [ 12 15 10 &

Find the mean of the following distribution by Step Deviation Method :

Class 10-15 [ 15-20 | 20=-25 | 25-30 | 30-35 | 35-40
Interval
Frequency | 2 5 B 11 4 13
Class 40 -45 [ 45530 [ 5055 [55-80 | 60-063 | 65-7F0
Interval
Frequency | & b 12 15 10 6
T AERA| x ) AF 0 FAG, A1 7 AEE TG 67 B
= 40 — 50 (50 — 60 |60 — 70 | 70 — 80 [ 80 — 90
T | 5 x 15 12 7 “'-};%7’
L
Determine missing uency 1, from the following data, when Mode is 67. l-."-w
Class 40 — 50 [50 — 60 [60 - 70 [ 70 — 80 [ 80 - 90 "
Frequency | 5  § 15 1 |7
TUE-T [ SECTION-D
wy w21 8 30 W i @ 4 s ) g,ﬁ

Question numbers 21 to 31 carry four marks each.

o FaA 79 Hva TIREE UiE T Fitan faEE 125, 162 A 250 = fawfam w0 w dves
F99: 5,6 JAR TR

Firl the largest possible positive integer that divides 125, 162 and 259 leaving remainder 5, &
and 7 respectively.

TETE o 4+ 5 - Ga? - 32x+32 F A E 1 39 -4 1 56F o 7 Im )

Obtain all other zeroes of the polynomial 14 + 523 — & x2 = 32x + 32, if two of its zeroes are 1 and
=4.

fires Yt e 0 e g e e S

Br=y+4=0

2r = Sy = 8

T TEE AW - A8 F = Ay 4 w5 ot it

Solve the following pair of linear equations graphically ;

Br—y+4=0

Ii—5y=8

Shade the region bounded by the lines and iy- axis.

fFTm W e 31 T e qereer w wE g i e el e b el e am v
v A w1 @wem fewm B w1 W yEe wt sl
2 25 fau +iifw 307 avi & = vw faa w30 4 7o ofts w0 Sy 3 pees el 7 as fa
il 5¢ [EE YR w0 E T iR 5 # 2 & weie =fa gm aw s W gEes aifis
&1 | Firam e s 3% gm0 & v sifafie ofn am =it

YA 1 AR fatm

A lending library has a fixed charge for one week, and charges fine for keeping the book for

each day thereafter. Manan had taken a book by one day due to rain on that day, Diptanshu
had taken a book, but paid ¥ 85 for it as he had forgotten to return it and after getting a



reminder from concerned persons returned it after 5 days. Find the fixed charge and the total
amount of fine money paid by them. Which value does Manam depict?

25 AR waE i T W e gy, e s R aeepfe #1 anew sl & we-fe
=1 faer 7 rarave v s and §)
Using basic proportionality theorem prove that the line segments joining the mid-points of the
adjacent sides of a thombus form a rectangle.

26, AABCH, 3ff ADLBC ¥R AD? = BD X DC &, 7t firg wifwe & sBAC=90°§1
In AABC, if ADLBC and AD?= BD % DC, then prove that ZBAC =90°.

27 HRe=30" AR ¢ = 60 B, F Pt w wenfm Fife

tanfl + tand

1 — tanf. tands

{ii) cos(d = 8) = cosd cosh + sind sind

If8=30"and & = 60°, verify the following -

; tand + tandg
g+ E —
(i i ® 1 — tanf. tan

(if} cos(d — 8] = cosdy cosh + sind sind
ATE cosh — sing =2 sing & #t Fos w90 76 cosh + sind = T cosa ¥
if costh — sin = /2 sinB, then prove that cosB + sinfl = /2 cos.
A% sech — tanh = x &, W TaEY w
1 Y
1[:+1J l 1—.lc|
secll = 2 *laoftrang= 2\ /8y

If secl — tand = x, show that -
17 \

E[x+_ L2 —»
sech = 2 I-l andtanfl = 2 [I "I
0 Frea wrelt 4, 100 fenfidi % 1.Q. zwin o #

i tan {0 + ¢) =

% e

- 120 A|130 #|M0 #®[150 =[160 #|170 A
L9 HH Y &HH kg FH G|
| Fyenferar =1
- 10 29 G4 8 an 100
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LO).s of 100 students are given in the following table :
less less less less losg less

Q. than than than than than than
120 120 140 150 160 170

Mumber of

P R, 10 29 64 78 o 1D

Diraw a ‘less than t}rpé' ogive for the given data. Also, obtain the median from the curve,
31 frerferfin siwel w mers 52581+ oy W 9 Am Fifa, i T anen 100§

o %w0H [0-10 [10-20[20-30 |30-40 | 40-50 ] 50— 60 m—w{

fi 2 5 x 12 17 20 ¥
A ST | 70-80 | 80-90 | 90—100 | T AW
f 9 7 1 100

The median of the following data is 525, Find the values of x and i if the total frequency is

FPage S of i
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10K,
Class interval | 0-10 [ 10-20[20-30 | 30-40 | 4050 | 50— 60— 70
F 5 ¥ 12 17 20
Class interval | 70-50 | 8090 | %0—100 | Totl
5 g 7 4 100
o




